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ANNUAL EXAMINATION 2022-23

Class : IX
Subject : MATHS

Time Allowed : 3:15 Hours Max. Marks : 70

Instructions : Q
(i) All questions are compulsory. Marks are indicated agaiﬁ h

question.

(ii) Please check that the question paper contains total,12'questions
and the No. of printed paper is 07. Please writ uestion no.
properly before giving your answer.

(iii) When the first bell rings, the question pap e distributed and

bell you will start writing your answe
(iv)  This question paper is divided @

Section-B. Q

you should go through it properly. Afteg nutes, at the second

o sections., Section-A &

N-A
Which is irration er . :
(a) /16 6) V32 (c) V3 (d) V49
25 V2
2. V2 T TR 8- (1)

e @ 14121
argie arad . T JTadt

Q he decimal expansion of V2is:

(a) finite decimal (b) 14121 _
(c) non terminating recurring (d) non terminating non recurring
- (1)

s aod ()P -x-N T
(@) (x+y) (x+y+1) (x-y+1)
(C) (x+y) (x+y+1) (x+y-1)_— (d) (
. 3y
Factories {(x+y)’—X y} ) (x=y) (X+y—1)(X+y+1)

a) (x+y) (x+y+1) =y+1)
:c; §x+¥) tx+y+1 ) (x+y-1) (d) (x+t) (-x-y+1) (x+y-1)

(b) (—x—y) (X+y-1) (X+y+1)
x+t) (—x-y+1) (x+y=1)

P.T.O.
trinea (1 AMathe) (1) ( )



4. (x+3)3 & TR & x 3y VI B~ ()
&, 1 g 9 T8 27
Coefficient of x in the expansion of (x+3)3 -

(a) 1 (b) 9 (c) 18 (d) 27
5, 3 WK Y@ gfee aedt i (1

WY @ Afg w deRg w3
Two parallel lines intersectat:
(a) one point (b) twopints  (c) three points (d) nub&
X=2 AT y=~4 |} A &N aTel TR ) Heer—
P DI @, daA2 T W CIH ﬂ'@
Number of equatlonsthatare satisfied by x= %
(a) onlyone  (b) only2 (c) infini ) None
x=27 y=—1 ﬁwﬁﬁ%&mmﬁm
() x+y=3  (b) x-y=3_(c) x d) TTHAFE HE‘T

x=2 andy =-1is the solution of @h ofthe followmg

(@) x+y=3  (b) x—y=3l@(+y+3-0 (d)None

@

~

(21) &1 A9 B (1)
P. 9261 9. 9 T 9271 H TR IS A8l

Using appropri tity find the value of (21)°
(a) 9261 8261 (c) 9271 (d) None

10T DY | T b & (1)

GO 9. 55° T 9° . ° PR
asure of an angle which is its own complement.
45° (b) 55° (c) 90° (d) None

a

10 E\A)tBC 3 AB=BC T2 £B=80° & T LA BT A &~ (1)
%. 80° 9. 40° T. 50,7 °. 100°
Intriangle ABC, AB= =BC and «B = 80°, then find the value of ZA
(a) 80° (b)40° (c) 50° (d) 100°

1. Qo o AN 1807 grare
&, sead U B 9 TP Cal
7. T B0 g, GRS BT
Two angles whose sum is equal to 180° are called

‘e (b) Complementary angles
a) Vertically opposite ang
Ec; Adjacentangles (d) Supplementary angle

&

©

(1)




12.

13.

14.

15.

16.

17.

18.

AABC 1 7@ G € 1@ AABG @1 srawa : AABC @7

AAHA § (1)

. 13 o 31 . 12, g 21

The centroid of triangle ABC is G. then ar (AABG):ar (AABC)is

(a) 1:3 (b) 3:1 (c) 1:2 (d) 2:1
et (1)

fp= aafd A afd LOAB=40° g dr ZACB
In given figure, IfAOAB 40°, then ZACBis equal.

(a) 503 (b) 40°
(c) 60° d) 70° A o
Wﬁgamwm%msﬂzﬁa‘rm%— . (1)

F. 90° 3% 100° @ 60° 3R 45 leg
7. 90° 3R 110° g 3™a
Itis possibletodrawa triangle, when it
(a) 90°and 100° (b) 60°a

(c) 90°and 110° (d) N
& & ¥ | qq 39T &Fwd g (1)
JHA

o angles.

g ot @1 Yol 13, 14
®. 48 QA
sﬂﬁ@raﬁéq@r

T 84 wHL
The sides of a tri @are 1 3 cm., 14cmand 15cm. thenits areis
& 82cm? (c) 84 cm? (d) None

(a) 48cm?
r 3o @ (o€ qra aragficr dere T A & (1)
(c) 4/3mrth  (d) 2mr

(a) 18n (b) mreh,—
Vi of arightcircular cylinder of radius rand heighth.
3 (d) 2mr

nr?h (b) mr’h (c) 4/3nr*h

g?ﬁa‘fa%anuaﬂ’rzﬁrﬂqrmz?% S Pl &1 3T
(1)

gNT—

h. 13 9 19,7 T, 341 . 91

The ratio of the volumes of two sphares is 1:27 the ratio of their
radius is

(@) 1:3 (b) 1:9 (c) 3:1 (d) 9:1
frafefaa § &9 qﬁﬁu AT 8- (1)
B 4 g 0 T. V3 °on

0 . 4



= 1 N S

19.

20.

Which of the following is rational
g (b) l (c) V3 (d) n

(@) 3

aﬁw@aaﬁsﬂﬂﬁaﬁqﬁwoa%aﬁ@ﬂaﬁmﬁ?ﬁ

yTRyear a— (1)
®. 1 g 0 T 02, §. Pg el

If the probability of winning a game is 0 8 then the probability of
losing the gameis :

(a) 1 (b) 0 (c) 0.2 (d)
Wﬁ?ﬁﬂ%m‘rsommﬁwssmq‘c’m% "a'ﬁ

CAR IR C I
> " - T, Qﬂ aﬁs‘ﬂé’f

&.
12, C12

Acoin tossed 60 times resulted is @X@ he probability of getting

aHeadis:
(@) 5 (b) _7_ Q) 5 (d) None
12 17

frafaRea da TUS} BT & DIfIY— (2x5=10)
YN W V3 BT FERTSIRGL (2)
X) = x+5 BT Y& IS A1 DIV | (2)
(3, 4) THERT 3y = ax+7 B el W Rerd &

AN a1 7T 3 AR @)
Eb T S BT 83 1 BifoTe, Foraa! <1 4T 8 |4,
3 14,8, € 3R foraaT g 42 AL R | (2)

Qo T fARFIPQIRRGUS TR P :

ﬁgowgﬁz@zm%uﬁ
/POR: ZROQ=5:7 & BT G .

WWI (2)
ve e ¥4 A U AfRe qooidre Wefl 7% 30 T A

6 IR DT AR & | TidT T WR O B Wi
ST DI | )

Solve any five parts of following :
(a) Locate V3 on the real number line.




N
O

(b)
(c)

Find the zero of the
ifthe point (3.4) Lies
7.Find the vaiye ofa.

polynomial P(x)=x+5
S on the graph of the equation 3x = ax +

(d) Find the area of a triangle two sides of which are 8 cm. and
11¢m. and the perimeteris 42 cm,
(€)  Infig.linesPQandRs; intersect P
each otherat point0. S
IfPOR: PQR = 5:7 fing allangles.
R
(f) Ina cricket match batswoman q
hits a boundary 6 times out of 30 balls she ws. ind the
probability that she did not hita boundanQ
Fr=ifaRaa # & & avet 71 g 06 (4x3=12)
T FHIGR 2x+y=7 B AR T | (4)
q. P(x)-x3+1zﬁ‘rx+1ﬁﬂﬂ@ mmam
HIFTY |
TT. Ho T oz ¥ —LPRQ
g Z/PQS=/PRT% 5
g. % AABC 3R ADBC 99T '
BC W Rerd 31 wafgarg
B @
\b g q3I73T f5 ZABD = Z/ACD \,\/
.
Solve any three of the following : |
(a) Write four solution of the equation 2x +.y=jl |
(b)  Findthe remainderwhen P(x)=x3+1is dividedby x+1.
(c) In the given figure ZPQR = ZPRQ
then prove that ZPQS = ZPRT
$a R T
A
(d) AABC and ADBC are two B c
isoscales triangles on the

same BC showthat ZABD=/ACD



T

3. mmaﬁéwmwwmm— (4x3=12)

D DN D HUE 16 VA, U THD IR B BT 12 D
M. B | 9% &1 7% Ys 14 @l 7% 31 | (4)

G TS UG B HARE 15 WAL & IR 39T amadT 1570 A,
I B Al 39S AR 20 o s DY (n=3.14)  (4)

T UF B9 ABC & v #iforg Rmad BC=7 AL,
£B=75°3{R AB+AC=13 ¥#I. &1 | 4)

" ABC U% wHfgarg [ & R AB=A&®APJ_BC
e &gy f /B=,C ¥ | . (@)

Solve any three of the following : 0

(a) The height of a cone is 16 cm. an radiusis 12cm
find the curved surface areaa urface area of cone.

(b)

()

(d)

&

The height of a cone 15 cm, olume is 1570 cm?®. Find
the radius of its base. (us 114)

Construct a triangle which BC=7 cm., Z/B=75° and
AB+AC=13cm.

ABC s a isosc@tﬁangle with AB=AC. Drawn AP1BC to
show thata@zc.

O
Tdh GUS PIfST7— (1x8=8)

AT 3 .. B arel < g & faegall wR wfoese
& T S Bl d 4 B [ 4 1A, § Sgfs

\baﬁaraﬁawréamaﬁml 8)

TYisy 5 vd wHiR IS B IV B FHGANS Th
AT T 2 | 8)

Solve any one part of the following::

(@)

(b)

Two circles of radii 5 cm. and 3 cm. intersect at two points
and the distance between their centeres is 4 cm. Find the

length of the common chord.
Show that the bisector's of the angles of a parallelogram

form arectangle.



5.

ffaied # | oI va @vs HIfoTg- (1x8=8)
% ABCHEWRI&TAD HT R fagg| A (8)
29IisT fhar (BED)=1/4ar(ABC) B |

G TP W P AN, AR AR 5 A1 4 A 3R 3 M.
&1 %. 7.50 Ufy g7 Aiex J 59 W B QaRI 3R

(L
Bd W GBE TR BT | ) 2
Solve any one part of the f %g : A
(a) '
E
B D C

(b)Q he length, breadth and height of a room are 5m, 4m and
3m respectively. Find the cost of white washing the walls of
the room and the celling at the rate of ¥ 7.50 per m2.



